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QUESTION 1

In which of the following SAP HANA scenarios is it recommended to encrypt communication between the
client software and SAP HANA?

There are 2 correct answers to this question.

Response:

A. SAP HANA as a data mart for reporting and analytics.

B. SAP HANA as a classic three-tier architecture as the primary database (for example. SAP NetWeaver Business
Warehouse, SAP Business Suite Installation).

C. SAP HANA as a platform for providing database and application services to native SAP HANA- based applications.

Correct Answer: AC

QUESTION 2

USER A grants a privilege to USER B, and USER B grants the same to USER C afterwards. What
happens if you drop USER B from the HANA database?

Choose the correct answer.

Response:

A. The privilege is revoked from both USER A and USER C.

B. The privilege is revoked from USER C, but not USER A.

C. The privilege remains assigned to both USER A and USER C.

D. The privilege is revoked from USER A, but not USER C.

Correct Answer: B

QUESTION 3

In the Monitoring Expensive Statements trace, which additional trace option needs to be set to "false" to
write the trace data directly to file.

Choose the correct answer.

Response:

A. Threshold memory
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B. Use in-memory tracing
C. Trace flush interval
D. In-memory tracing records

Correct Answer: B

QUESTION 4

In the Aggregate Health Monitor application, you are viewing the overall status of all tenants assigned to
your SAP HANA cockpit user.

Which user retrieves this database status information? Please choose the correct answer.

Response:

A. A named user with monitor permissions

B. The system user

C. The cockpit_admin user

D. A technical user with limited permissions

Correct Answer: D

QUESTION 5

In which circumstances do you create a column store table? There are 3 correct answers to this question. Response:
A. When the calculations are based on a small number of columns

B. When accessing complete records

C. When aggregations or fast search is required

D. When the table has a large number of columns

Correct Answer: ACD
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